SESSION 2007

BACCALAUREAT TECHNOLOGIQUE
ANGLAIS

LANGUE VIVANTE 2

Série STG
CORRIGE

COMPREHENSION (10 points)

Le total des points est sur 40 et il est & ramener sur 10 pour obtenir une note de
compréhension sur 10.

- RAL NSION

Choose the correct answer: 12 points:

1) The scene takes place: 2 pts
b) at the airport

2) The conversation is between 2 pts
c) 2 men and a woman

3) The 2 women:; 2 pts
a) are going on holiday

4) The 2 men 2 pts
c) are visiting a member of their family

5) The 4 characters are going to: 2 pts
c) Hawaii

6) Mr Walsh Is: 1pt
b) Bernard's father

7) Ursula is: 1pt
c) Mr Walsh's sister
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Il — DETAILED COMPREHENSION

1) Choose the correct answer: 6 points

A) “Travelwise” (I. 7) is: 3 pts
a) a travel agency
B) “a package holiday” (I. 34) is: 3 pts

c) a holiday that includes the airfare and the hotel

2) What or who do the following pronouns refer to? (4x2)8pts

a) they = Bernard and his father or Bernard and Mr Waish or the
two men

b) we = the two women or the two young women or the young
woman and her friend

c) we = Bernard and his father or Bernard and Mr Walsh

d) she = Ursula or Bernard's aunt or Mr Walsh's sister

3) Are the following statements true (T) or false (F)? Justify by quoting from
the text and indicate the lines. (3x2) 6 pts

- altribuer 2 points pour loufe réponse compléte (true or false + citation correcte)

- ne pas attribuer de point pour foule réponse true or false comecte mais sans
cifation

- ne pas aftnbuer de point pour loute réponse true or false correcte mais avec une
citalion inappropnée

- ne pas attribuer de point pour une citation seule (sans la réponse & true or false)

a) F  “We arranged this trip at rather short notice” (1.13)
ou “Last-minute bargain” (I. 14)

b) F ‘it was the cheapest way to travel — to take this package” (. 21-22)
ou “'Last-minute bargain. You don't get much choice, then, do
you? But you save a lot." (I. 14-15)

c) T “lsitalong time since you saw your sister?’
‘It is that," Mr Walsh said.” (I. 24-25)
accepter si le candidat propose uniquement la phrase “It is that,"
(I. 25) comme justification

4) Focus on lines 16 to the end and pick out one sentence showing that
(4 x 2)8 pts

a) Mr Wailsh didn't take part in the organisation of the trip:

“I didn’t know we were going to a hotel,’ said Mr Walsh querulously. 1
thought we were staying at Ursula's place.” (I. 16-17)
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b) Mr Walsh doesn't really want to visit Ursula.

“It's her who wants fo see me.” (I. 27)

Accordez un bonus a tout candidat qui aura repéré ou inséré dans sa
citation I'expression '/ can't say I'm straining at the leash.

€) The two young women are affected by what they hear.

The young women were silenced. (. 32)

d) Bernard realises that buying a cheap trip to visit a person who is going
to die can be considered inappropriate.

“Bernard felt embarrassed and almost guilty, as if he and his father had
committed some error of taste, or broken a taboo.” (. 32-33)
ou

“There was, after all, something Incongruous, even indecent, about
using a package holiday to visit a dying relative.” (1. 33-35)

EXPRESSION (10 points)

Write the conversation between the two women a few minutes later on the plane
{150 words)
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